
(Communication System) 

�of. 1. clTI1=I' tRm i\; � 'iITT'I' � i\; llR � i\; � Pli:.:tfaf&a a111Rf4)· � lt· 
�-���$ft? 

(a) 10 kHz (b) 10 MHz
(c) 1GHz (d)l000GHz

3'R'-(b) 10 MHz 
3MHz-� 30MHz �aq;qftotiYcxitif �qft �-q amitl11ml� �qft 
atrf (�-1 GHz, 1000 GHz) aw:A � cfiT � 'tlR � � l � 10 kHz 
� qft otiY � qft � an��� cJ>R11T � � i,

�of 2. UHFtiftm��cfiTvmulmtr:�QRl'trnlJt? 
(a) 'J_-'ffffl (b) a:m:J cftiY
(c) � tR1l (d) '3tJq;NT tRiY

3'R'-(d) 31Jcnm o{lll 
UHF'tiftm:-q1R=IRlJl31Jcmt�mummmt, 
�of 3. -� ftrrr-:rct : 

(i) 1=fRl q;r � +t'jultl \Tcrr.l � cf;ffi I
(ii) 1=fRl q;) � � i\; � � (4,{i\fad � ti

(iii) �anURt�cfiT�cf;ffit1
(iv) d!U+idq i\;����cfiT qt�clRff jl

\'.JQ-<lcm ltiPt:r.=ll � � -� � t?
(a) � (i) a?.Il (ii)
(b) � cm a?.U (iii)
(c) (i), (ii) a?.Il (iii) � (iv) �
(d) (i), (ii), (iii) a?.Il (iv) �

:xi<-(c) (i), (ii) a?.Il (iii)� t �(iv)�� ti
� � m:aw:nit � ( � o a� 1) q;r � � l1 arcr: 1Wfl q;r lrno � 
m:A � � � "tR � fclfcrc@ � -q � � ti

�of 4. · ii��.ijftq � i\; � "ifllT 1:1W atlqi(Qcp t � Wc1i � � � � 
���i\;iRJiR°iJ)?�TVWcP�81m �t1 � � 
��tRiffltrgfc\;cR ab��JraR�

-gc.;r-1ID, �= mm � qft � � � � an� mm t,

� q;r �-�, dr = �2Re ½ 
� Re 1!?.cU cfil � t1

3f�li!I 

15 
"a 1 � <i-1 a 'tlIT 

111



�-� (service area), 
A= nd: =n. 2R� 

�t � =81m, 
Re =6.4 X 106 m 

= 3.14 X 2 X 6.4 X 106 X 81 m 2
= 3258 X 106 m 2 = 3258 km2 
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Ee 
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Ee
= 12V 

Em
= 0.75x 12V= 9 V 
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